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General Instructions to the Candidate :
1. S @%ﬁ%%odao W), 34 &3%?1@;3.2{ aé.@o@cbd Jn-A msi on-B msag wYNROBT.

nR-ASS, Employability skills?t FOW0RRT @%ﬁ@c&o@, WPn-B3Y. we&meﬁmz@e‘ﬁ
ROWORIT T,JNPTOZH.

This Question Paper consists of 34 questions including Part-A and Part-B. Part-A
consists of questions related to the Employability skills and Part-B consists of the
questions related to Automobile.

2. BINOR BRRTON RRUINGI, TOR.
Follow the instructions given against the questions.

3. O NG 3RETORN B03NEL T,ZNONTOT TREF LoBNTSY, R0,
Figures in the right hand margin indicate maximum marks for the question.

4. BI3TEIoDRY, LOBRYLO 15 DOTNY TRRTIP) Fe0n0E, ¢BOILD ANOTRTDT
RROOP[), TF T8, 8030 BoeeRNTY, QBN

The maximum time to answer the paper is given at the top of the question paper. It
includes 15 minutes for reading the question paper.
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PART - A

I.  Four alternatives are given for each of the following questions / incomplete

statements. Choose the correct alternative and write the complete answer
along with its question number and alphabet : 3x1=3

1. Which of the following is an example of oral communication ?
(A) Newspapers (B) Letters
(C) Phone calls (D) E-mail
2.  What makes you complete work or studies without others cheering you ?
(A)k Self-motivation (B) Communication
(C) Self-confidence (D) Self-esteem
3. A positive facial expression in the following is,
(A) Frowning while concentrating
(B) Maintaining eye contact
(C) Smiling continuously

(D) Rolling up your eyes

II. Answer the following questions : 2x1=2

4. What are goals ?

5. Define sustainable development.

III. Answer the following questions : 2x2=4

6. Write any four function keys in the keyboard.
7. List any two functions of an entrepreneur.
OR

What are the good qualities of an entrepreneur ?

IV. Answer the following question : 1x3=3

8. Explain the characteristics of a good feedback.
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PART - B
V. 83 39N BINOR LT OFRT TewInen PO SoHNERY ABOINS. SN, 18,

BRFIRT LOZTHRY, B0, BTT §,[FTBRODN FroF LOFTIR) W00 17 X 1 =7

Four alternatives are given for each of the following questions / incomplete
statements. Choose the correct alternative and write the complete answer
along with its question number and alphabet :

9. 0T BTFEOK |TF FBINTORYTO

(A) 9000 kg-m (B) 5000 kg-m

(C) 6000 kg-m (D) 4500 kg-m

One horsepower is equal to

(A) 9000 kg-m (B) 5000 kg-m

(C) 6000 kg-m (D) 4500 kg-m
10. 79T, T3 NBOJA OB YVZOR

AR5 O 1 3 FOPRF T 0008 11 BROWID* FRS 1. :
(4) 2O (B) TP RNOPRF T JevoTT

(C) Redeerew o (D) P ROPRF T 00T

&l

Observe the analogy and answer :
Vegetable oil : Liquid lubricant : : Molybdenum disulphide :
(A) Emulsion (B) Semisolid lubricant

(C) Monograde oil (D) Solid lubricant

11. e’ AON'IYTO 9, B0RT 38,3030 et |

(&) ‘o' B) awon'
(C) RO 52,0W0° (D) oSO

The initial curvature provided in a leaf spring is called
(A) Dipping (B) Pitching

(C) Spring camber (D) Yawing
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12. o0 w5993 AT 3557\);03332( UTO3RENTIET TOBINED
(A) OF TOIIND (B) 03T wWoBIND
(C) &233, TINL (D) Q235 WoBINTL
Automatic transmission system is used in
(A) Light vehicles (B) Luxury vehicles

(C) Three-wheelers vehicles (D) Two-wheelers vehicles

13. QOT* AT, F Q0T3

(A)  B0RT AD0BOT 0,3

(B) IFT Wi, m@swe&m RO

(C) ~Rgp? HoRoed
(D) B T FHS0°*

Engine capacity refers to

(A) the diameter of the cylinder shape engine
(B) the total piston displacement volume

(C) swept volume

(D) friction horsepower

14. A90B@T* $TTT Tog,Nesy, FRTADLI WIS TTI

a) 00 (B) @oes*
(C) B0 D) 2

The tool used to create cylindrical shape holes is
(A) Plier : (B) Punch
(C) Drill bit (D) Snips

15. |oBI'TY, Z© [LF/I), T WHRT YVTITED

(A) BTE (B) ©ONS LT
(C) 9% (D) @’ B, Fn

The tool used to check the oil level in the engine is
(A) Dipstick (B) Oil filter
(C) Funnel (D) Oil drain plug
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VI. TR0 3tlon mgpm :g?d&l thE N ol I 4x1=4

Fill in the blanks with suitable answer.

16.

17.

18.

19.

VII. 20.

(SIORAY LONTNRT OB mdw‘@’,‘v" &0330‘71%35% .......................... £30300° NPT
FB030223.

The tube tyres and tubeless tyres are called as ................. tyres.

T,®NnY Déﬁw deo%w&)q 98303000 MVTO3RENTOT YVTFOED .............. :

The tool used to measure specific gravity of liquid is ................... :

tTeF  BoT® IDF ﬁ“ N;%*CSQ @35 A dﬁdﬁ%’&g{
TRODTOTS.

Tappet wrench has ..................... jaws at fixed separation.

TOJIT T° LOT° Qﬁﬁi ..................... BRTT S03T WBDOTLIER).
The vehicle air fmer should be replaced aftera .............. distance.

A-BYODY stinRey O°R LoIESNY WBARRAYR) Tore B-Te3 000
SEARAY O'R TTY LOTFTONGRY ABORNT. ORYNERY, DDy LT
gmgdd:acsa" w3000 : 4x1=4

Uses of automobile tools are given in Column-A and automobile tools
are given in Column-B. Match them and write the answer along with its
letter of alphabet :

A-e'déi’ B-a‘éi”
Column-A Column-B
) 0% BRRB VNI BARRBYL &) FO,
To hold the workpiece Files
ii) deemw mﬁffﬁ@?a’% FSORLO b) mﬂmc:
Cutting of metal sheet Hammers
iii) IBOTLL TOBR) WT* FWRTWL c) wow Fx°
Cutting and chipping Bench vice
iv) BRTWT 33@?1%%30{ 3nooen d) ?&a‘;
Remove sharp edges Snips
e) WRS
Chisel
) DX NI,

Grease guns
-~
g AR @, W0°,

Screw drivers
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VIIL 81 3903 B 3non 3o :

Answer the following questions :

21.

22.

23.

ngp‘ 55570;033@,,3 QT mm% N’mk’g 71%359* SPA.

Mention the two common problems of the suspension system.
TR, 00 T WTTORTH RRBLO IeFT ma‘édwﬁeﬁabq TEITRA.
List the materials and tools required for changing the fuel filter.
DT QOT? m8§§ B0, NS 28 ?

Air filter is important for a vehicle. Why ?

24. 1978 T 3;’% emaa“ddo.‘o FTONYY ABS wdwh’;oﬁaagt BTN TOWCWATRTO
03T ?
Who introduced the first ABS on production of cars in 1978 ?
IX. 333dnIZ3nen wvgon : 4x2=8
Answer the following questions :
25. ROOWAOD VW THODFNFIY, WD,
Write the functions of front axle.
&0 [ OR
23 IO 03X TTOTTR SRS emmomfa& W3oD.
Write any four advantages of a battery.
26. QTR @ae@@@@t QWO
Explain the two-post lift.
27. TR0 TTRT W, [ WICWO.
Draw the diagram of hand hacksaw.
28. [OJIT Q'Bozjéa ?o‘c‘p%‘f m&@m@é’odaﬁi NROR.
Explain the blind spot detection of the vechicle.
X. B3NS 3nen wogon : 3x3=9

Answer the following questions :

29.

QOVF'TE, LVTCIRENRIT B3 FINT 308,38 aﬁdﬁ%ﬁ&; QT|OX :
(a) T RE* Fows*

(b) BRAEZ

Explain the following technical terms used in engine :

(a) Top dead centre

(b) Stroke
&89 /OR

4xXx1=4
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30.

31.

Q0BT TS, LBO3RENTT B FINT T008,8 TRNFIY, VIO
(a) 2,68 TR FRRO®

(b) &3 TR FTRO®

Explain the following technical terms used in engine :

(a) Brake horsepower

(b) Friction horsepower

TOB/IT SO0 WHETDOROTTON LIRVORORIT DT 50371@;5% mgpm.

List the different steps used in changing the oil of the vehicle.
BRETURNT® {FVIT® FOBIHY, V0308, H0 ABTHOTRNT. ABOREA.

The rollover prevention helps to control vehicle. Justify.

XI. 333N JInont wv3oa : 3x4=12

Answer the following questions :

32.

33.

ORT'F BIOCE FE L SIS 2133, WS, TN GRRRTR), RTS8
(i) TowT*
(i) R St

Draw the diagram of reverse elliot type stub axle and label the following
parts :
(i) Cotter
(ii) Stub axle
&5 /OR

mng@# (Xevolop 25@559* WD, TSNS mﬁﬁ%ﬁ% noTOéA :

M &

(ii) me:; Eadw-‘

Draw the diagram of tubeless tyre and label the following parts :
{ij Tread

(ii) Valve cap

e:&é,iraemz%@‘ T0TR0DY, VTSRENTT B3 BENT LUTFTeONY emwoifaeﬁmfs%
2000500 ¢

i) w007
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34.

(i) 7, 0R0N" QORI
(iii) & 530‘
(iv) mgefwe
Write the uses of the following automobile service tools :
(i) Calipers
(ii) Grinding machine
(iii) Spanner
(iv) Mallet
&89 [OR
IINS BEReEnL] Of ADEFA* FO3FMOTTYS TOTTNRGRY, DO
(a) BaIp, cFeLON® DOF F0I,€XT°

(b} Deet mﬂdaic‘

Explain the automobile service workshop equipment of the following :
(&) Reciprocating air compressor
(b) Wheel balancer

Q03 BRC0EI’ e;smq Q00BN udmomm‘@cgad R0V’ e LITOOTINI
TOTOWOINDE 7 Q0WS* BRSO WTSTOCRII 50371%?3% QDTOA.

What are the effects on an engine, if the coolant of the engine is not

changed regularly ? Explain the steps of changing the engine coolant.



